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Calculus Practice: Second Fundamental Theorem of Calculus 1a

For each problem, find F'(X).

2

1) F(x)=f (~t2 —6t—5) dt 2) F(X)=f (t+2)dt
5 -6
A) F'(x)=2x° +8x — 4x A) F'(x)=2x+1
B) F'(x)=-2x> — 12x° — 8x B) F'(x)=—x-2
C)F(x)=2 +4x — 8X C) F'(x)=x+2
D) F'(x) = —2x° - 12x* - 10X D) F'(x)=2x+2
3) F(X)=f (2t +2) dt 4) F(x)zf (3 — ot? + 24t — 14) dt
) 1
A) F'(x)=x A) F'(x)=2x7 - 4x° — 4x
B) F'(x)=2x+2 B) F'(x)=2x7 — 14x° + 32x% — 32x
C) F'(x)=x+2 C) F'(x)=2x7 — 18x° + 48x® — 28x
D) F'(x)=2x+1 D) F'(x)=-2x" + 4%’ + 4x
X 1 X 1
5) F(x) fSt dt 6) F(x)=f 4t° dt
-2 =5
> 5 A) F'(x)=-10x?
A) F (x)=x1 B) F'(x) 5x1 B) F'(x) = 2x2
- = Fl — 2
C) F'(x)=x’ D) F'(x)=2x 0 F'i 4X§
D) F'(x)=8x’
X 1 2X 1
7) F(x)zf 2t* dt 8) F(x)=f 5(t—2)* dt
X 51 X 1 1
A) F'(x) = 4x° = 2x° A) F'(x)=10(2x - 2)* - 5(x - 2)*
1 1 1
B) F'(x) = 4x? - 2x° B) F'(x)=2(2x+2)* - 5(x-2)*
501 1
C) F'(x) =—-8x> - 2x? C) F'(x)=8(2x — 1) ~5(x-2)
1 . :
D) F'(x)=6x> - 2x* D) F'(x)=-6(2x+2)* - 5(x - 2)
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K
5 2 4
A)F(X)—p A)F(x)=F+P
4 6 4
B) F'(0)=-—5 B) Fx) =3+
_ 2 8 4
C)F(X)——; C)F(x)=—F+F
D) F'(x) == D)F(x)=—%+%
x3 3%
11) F(x)zf t—zdt 12) F(x)zf ——dt
2 1
4 , 5 2 : 3
A) |:(x)=—F B) F (x)=F A)F (x)=; B) F (x)=—;
' 3 . 3 , 2 . 1
C) F'(x)=—5 D) F'(x)=—5 ) Fl=-~ D) F'(x)=-—
X X
13) F(x)=f —e'dt 14) F(x)=f 3e' dt
-2 -2
A) F'(x)=3e" B) F'(x)=2¢" A) F'(x)=2¢" B) F'(x) =—€*
C) F'(x)=¢* D) F'(x) = —¢" C) F'(x)=¢" D) F'(x) = 3e"
X 3%
15) F(x)zf —2¢" dt 16) F(x)zf —3¢' ' dt
-2 -2
A) F'(x)=-2¢" A) F'(x)=-9e™"!
B) F'(x)=2¢e B) F'(x) =3e™"’
C) F'(x)=—¢" C) F'(x)=9e>"°
D) F'(x)=¢" D) F'(x)=-6e>"’
X 2X
17) F( ) 2csc? tdt 18) F(X)Zf csc tcot t dt
T X
2 _
‘ A) F' (X)—4cos 2X — csc Xcot X
A) F'(x) = 2sin x B) F'(x) = 2csc 2xcot 2X — csc Xcot X
B) F (x) = 2esc xese x 0) F'(x) = 2sin 2X — csc Xcot X
) F EX)) 2sec xtan X D) F'(x) = 2csc 2xesc 2X — cse Xcot X
D) F'(x)=—sec xtan X
X2 X2
19) F(X)Zf 2sec ttan t dt 20) F(X)Z[ csc tcot t dt
T X
6 A) F' (x) 2Xcos X* — ¢sc Xcot X
A) F'(x) = =2xsec x* tanx B) F'(x) = 4xsec x*tan X> — csc Xcot X
B) F'(x) =2xcsc x*cot X° C) F'(x) = 2xesc x%cot X> — esc Xcot X
C) F'(x)=-2xsin x* D) F'(x) = —4xsec Xx*sec X% — csc Xcot X

D) F' ( ) 4xsec X*tan x> 5

© 20 2 2 Kuta S oftware LLC. A1l r ights reserved. Made with Infinite Calcul us.



WWW.jmap.org

Name
© 2022 Kuta Software LL C.

All rights reserved.

Calculus Practice: Second Fundamental Theorem of Calculus 1a

For each problem, find F'(X).

2

1) F(x)=f (~t2 —6t—5) dt 2) F(X)=f (t+2)dt
5 -6
A) F'(x)=2x° +8x — 4x A) F'(x)=2x+1
B) F'(x)=-2x> — 12x° — 8x B) F'(x)=—x-2
C) F' (x)=2 +4x — 8 *C) F'(x)=x+2
*D) F'(x)=-2 2x3 — 10x D) F'(x)=2x+2

X
4) F(x) =f (t* - 9t* + 24t — 14) dt
1

A) F'(x)=x A) F'(x)=2x7 - 4x° — 4x
“B) F'(x)=2x+2 B) F'(x)=2x7 — 14x° + 32x> — 32x
C) F'(x)=x+2 *C) F'(x) = 2x7 — 18x° + 48x° — 28x
D) F'(x)=2x+1 D) F'(x)=-2x" + 4%’ + 4x
X 1 X 1
5) F(x) fSt dt 6) F(x)=f 4t° dt
-2 =5
! > A) F'(x)=-10x?
A) F'(x)=x *B) F'(x) = 5x B) F'(x) = 2x2
1 1 E'(x) = 4x2
C) F'(x)=x D) F'(x)=2x 0 F'i 4X§
*D) F'(x)=8x>
X2 1 2X 1
7 F(x)zf 2t dt 8) F(X)=f 5(t-2)* dt
X 51 X 1 1
A) F'(x) = 4x° = 2x° *A) F'(x)=10(2x - 2)* - 5(x - 2)°
1 1 1
*B) F'(x) = 4x* —2x° B) F'(x)=2(2x+2)* - 5(x-2)
501 1
C) F'(x)=-8x* —2x’ C) F'(x)=8(2x—1)* - s(x~2)
1 . :
D) F'(x) = 6x* — 2x° D) F'(x) =—6(2x +2)* - 5(x - 2)°
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X X
9) F(x)=f4—2 dt 10) F(x)zf —%dt
- X
5 2 4
*A) |:(x)=P A) F(x)=F+F
4 6 4
B) F'(0)=-—5 B) Fx) =3+
2 8 4
C)F(x)=—F *C)F(x)z—F+P
D) F'(x)=—3 D)F(x)=—%+%
X 3 3%
11) F(x)zft—zdt 12) F(x)zf ——dt
2 1
4 , 5 2 : 3
A FX=-= B) |:(x)=F A) F(x)=; B) F(x)z—;
3 3 2 1
C) F'(x)=—5 D) F'(x) =5 Q) Fl=-> D) F=-—
X X
13) F(x) =f —e'dt 14) F(x) =f 3e' dt
-2 -2
A) F'(x)=3e* B) F'(x)=2¢e" A) F'(x)=2¢" B) F'(x)=—e"
C) F'(x)=¢* *D) F'(x) = —e" C) F'(x)=¢" *D) F'(x) = 3e*
X 3%
15) F(x) =f —2¢" dt 16) F(x) =f —3¢' ' dt
) -2
*A) F'(x) = —2¢" *A) F'(x)=—-9¢™""
B) F'(x)=2¢e B) F'(x) =3e™"’
C) F'(x)=—¢" C) F'(x)=9e™*’
D) F'(x)=¢" D) F'(x)=-6e>"’
X 2X
17) F( ) 2csc? tdt 18) F(X) :f csc tcot t dt
T X
2 _
A) F' (x) =4co0s 2X — ¢sc Xcot X
A) F'(x) = 2sin x *B) F'(x) = 2csc 2Xcot 2X — csc Xcot X
“B) F'(x)=2csc xese x C) F'(x) = 2sin 2x — csc Xcot X
) F EX)) —2sec xtan X D) F'(x) = 2csc 2xesc 2X — cse Xcot X
D) F'(x) =—sec xtan X
X2 X2
19) F(X) = f 2sec ttan t dt 20) F(X) = f sc tcot t dt
T X
6 A) F' (x) 2Xcos X% — csc Xcot X
A) F'(x) =-2xsec x*tan X B) F'(x) = 4xsec x*tan X> — csc Xcot X
B) F'(x)=2xcsc x COt x* *C) F'(x) = 2xesc X cot x> — csc Xcot X
C) F'(x)=-2xsin x* D) F'(x) = —4xsec Xx*sec X% — csc Xcot X
*D) F' (X) 4xsec x*tan x*
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